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DIRECTIONS: 
In each sentence below four words that the printed in 
bold have been lettered (1), (2), (3), (4) and (5). One 
of them may be wrongly spelt or inappropriate in the 
context of the sentence. Find out the word, which is 
wrongly  spelt  or  inappropriate  if  there  is  any.  The 
letter of that word is the answer. 
If all the  words,  which  are printed in bold , are 
correctly spelt and appropriate in the context of the 
sentence, mark (5) as the answer i.e. All correct. 
 
1) He was a member 1)/ of the orignal 2)/ committee 
which drafted 3)/ these recommendations 4)/ All 
correct 5)/ 
a) He was a member 
b) of the orignal 
c) committee which drafted 
d) these recommendations 
e) All correct 
 
2) We plan to complete the exhaustive 1)/ 
performance  2)/  review  3)/  undertook  4)/  by  us  by 
next week. All correct 5)/ 
a) We plan to complete the exhaustive 
b) performance 
c) review 
d) undertook 
e) by us by next week. All correct 
 
3) Information 1)/ about the exam 2)/ was displaid 3)/ 
on the notice 4)/ board. All correct 5)/ 
a) Information  b) about the exam 
c) was displaid  d) on the notice 
e) board. All correct 
 
4) I appealed 1)/ to her to look after my children 2)/ 
during my absence 3)/ and she acceded to my request. 
4)/ All correct 5)/ 
a) I appealed 
b) to her to look after my children 
c) during my absence 
d) and she acceded to my request. 

e) All correct 
 
5) India should adopt 1)/ these strategies 2)/ to handle 
the  threat  3)/  of  global  warming  successively  4)/  All 
correct 5)/ 
a) India should adopt 
b) these strategies 
c) to handle the threat 
d) of global warming successively 
e) All correct 
 
6) Employees frequently 1)/ avail of loan facilites 2)/ 
provided 3)/ by their employers at reduced 4)/ rates of 
interest. All correct 5)/ 
a) Employees frequently 
b) avail of loan facilites 
c) provided 
d) by their employers at reduced 
e) rates of interest. All correct 
 
7) The Government officials appear to be committed 
1)/ to implement 2)/ the poverty elevation 3)/ project 
with due sincerity 4)/ All correct 5)/ 
a) The Government officials appear to be committed 
b) to implement 
c) the poverty elevation 
d) project with due sincerity 
e) All correct 
 
8) He was an amature 1)/ singer till 2)/ the age of forty, 
when 3)/ he turned a professional. 4)/ All correct 5)/ 
a) He was an amature 
b) singer till 
c) the age of forty, when 
d) he turned a professional. 
e) All correct 
 
9) We are aware 1)/ that the funds have been utilised 
to  meet  working  2)/  cap  itel  3)/  expenditure  4)/  All 
correct 5)/ 
a) We are aware 
b) that the funds have been utilised to meet working 
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c) cap itel 
d) expenditure 
e) All correct 
 
10)  Since  petroleum  products  are  taxed  1)/  heavily 
they are a majar 2)/ source 3)/ of revenue 4)/ for the 
government. All correct 5)/ 
a) Since petroleum products are taxed 
b) heavily they are a majar 
c) source 
d) of revenue 
e) for the government. All correct 
 
11) According to these estimates 1)/ our profitable 2)/ 
margin 3)/ will be higher if we adopt 4)/ this approach. 
All correct 5)/ 
a) According to these estimates 
b) our profitable 
c) margin 
d) will be higher if we adopt 
e) this approach. All correct 
 
12)  The most popular 1)/ method  adopted 2)/ by an 
organisation to communicate 3)/ job vacancies to the 
public is through advertisement. 4)/ All correct 5)/ 
a) The most popular 
b) method adopted 
c) by an organisation to communicate 
d) job vacancies to the public is through 
advertisement. 
e) All correct 
 
13) In our opinion these norm s 1)/ are not applicant 
2)/ in this kind 3)/ of situation 4)/ All correct 5)/ 
a) In our opinion these norm s 
b) are not applicant 
c) in this kind 
d) of situation 
e) All correct 
 

14) With the unusually 1)/ heavy rainfall, the 
prediction 2)/ made by meteorological 3)/ department 
was proved 4)/ wrong. All correct 5)/ 
a) With the unusually 
b) heavy rainfall, the prediction 
c) made by meteorological 
d) department was proved 
e) All correct 
 
15) The key issue 1)/ discused 2)/ at the meeting was 
how to resolve 3)/ the food crisis 4)/ All correct 5)/ 
a) The key issue 
b) discused 
c) at the meeting was how to resolve 
d) the food crisis 
e) All correct 
 
16) One of the tangibl e 1)/ benefit s 2)/ of appearing 
3)/  for  a  loan  under  this  scheme  is  the  interest  rate 
concessions 4)/ All correct 5)/ 
a) One of the tangibl e 
b) benefit s 
c) of appearing 
d)  for  a  loan  under  this  scheme  is  the  interest  rate 
concessions 
e) All correct 
 
17) In such circumstanses 1)/ do not take unnecessary 
2)/ risks 3)/ with your savings 4)/ All correct 5)/ 
a) In such circumstanses 
b) do not take unnecessary 
c) risks 
d) with your savings 
e) All correct 
 
18) In the latest 1)/ few months the number of contract 
s 2)/ we have secured 3)/ has declined 4)/ sharply. All 
correct 5)/ 
a) In the latest 
b) few months the number of contract s 
c) we have secured 
d) has declined 
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e) sharply. All correct 
 
19) Mr Sharma refused to acknowledge 1)/ that he had 
committed 2)/ an error 3)/ while taking that desicion. 
4)/ All correct 5)/ 
a) Mr Sharma refused to acknowledge 
b) that he had committed 
c) an error 
d) while taking that desicion. 
e) All correct 
 
20) When the young artist returned 1)/ to his village, 
his  family  held  a  festive  2)/  dinner  on  it's  lawn  to 
celebrate his tr iumpant 3)/ homecoming 4)/ All 
correct 5)/ 
a) When the young artist returned 
b) to his village, his family held a festive 
c) dinner on it's lawn to celebrate his tr iumpant 
d) homecoming 
e) All correct 
 
21) The information 1)/ provided 2)/ to the staff was 
not adecuate 3)/ and everyone retaliated. 4)/ All 
correct 5)/ 
a) The information 
b) provided 
c) to the staff was not adecuate 
d) and everyone retaliated. 
e) All correct 
 
22) He was unable 1)/ to give a satisfactory 2)/ 
explanation for his absense 3)/ from the meeting. 4)/ 
All correct 5)/ 
a) He was unable 
b) to give a satisfactory 
c) explanation for his absense 
d) from the meeting. 
e) All correct 
 
23)  With  effect  1)/  from  April,  non-banking  finance 
companies with good performances 2)/ may be 

granted  3)/  licences  to  convert  4)/  into  banks.  All 
correct 5)/ 
a) With effect 
b)  from  April,  non-banking  finance  companies  with 
good performances 
c) may be granted 
d) licences to convert 
e) into banks. All correct 
 
24)  The  suspicion  1)/  was  paralysed  2)/  due  to  the 
impact of the tortuous 3)/ interrogation 4)/ All correct 
5)/ 
a) The suspicion 
b) was paralysed 
c) due to the impact of the tortuous 
d) interrogation 
e) All correct 
 
25) He  adviced 1)/ me not to  pick 2)/ up  quarrel 3)/ 
with neighbours on trivial matters. 4)/ All correct 5)/ 
a) He adviced 
b) me not to pick 
c) up quarrel 
d) with neighbours on trivial matters. 
e) All correct 
 
26) They managed 1)/ to accomplice 2)/ this by coming 
3)/ up with unique 4)/ schemes. All correct 5)/ 
a) They managed 
b) to accomplice 
c) this by coming 
d) up with unique 
e) schemes. All correct 
 
27) Our firm 1)/ manages 2)/ the investment of several 
3)/ foreigner 4)/ companies in India. All correct 5)/ 
a) Our firm 
b) manages 
c) the investment of several 
d) foreigner 
e) companies in India. All correct 
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28) The ministry’s proposal 1)/ for an autonomous 2)/ 
overarching  authority  3)/  for  higher  education  and 
research was finally approval 4)/ All correct 5)/ 
a) The ministry’s proposal 
b) for an autonomous 
c) overarching authority 
d) for higher education and research was finally 
approval 
e) All correct 
 
29)  Their  sole  1)/  concern  2)/  was  how  they  could 
assisst 3)/ their colleague in his hour of crisis. 4)/ All 
correct 5)/ 
a) Their sole 
b) concern 
c) was how they could assisst 
d) their colleague in his hour of crisis. 
e) All correct 
 
30) Since vegetable and fruit consumtion 1)/ will 
increase in future, an appropriate 2)/ 
choiceconsidering  agro-climate  3)/  input  needs  and 
economic  returns  4)/  should  be  arrived  at  for  every 
region. All correct 5)/ 
a) Since vegetable and fruit consumtion 
b) will increase in future, an appropriate 
c) choiceconsidering agro-climate 
d) input needs and economic returns 
e) should be arrived at for every region. All correct 
 
31) The entire 1)/ process 2)/ of assiging 3)/ projects 
has undergone 4)/ a change. All correct 5)/ 
a) The entire 
b) process 
c) of assiging 
d) projects has undergone 
e) a change. All correct 
 
32)  This  outlet  1)/  of  the  multinational  company  is 
expected 2)/ to employ additional 3)/ personal 4)/ All 
correct 5)/ 
a) This outlet 

b) of the multinational company is expected 
c) to employ additional 
d) personal 
e) All correct 
 
33) The next time your gym instructor 1)/ tells you to 
do some stretching 2)/ exersises 3)/ before starting the 
workout, 4)/ say no. All correct 5)/ 
a) The next time your gym instructor 
b) tells you to do some stretching 
c) exersises 
d) before starting the workout, 
e) say no. All correct 
 
34) Any failure 1)/ to complicit 2)/ with these 
fundamental 3)/ regulations will result in a fine 4)/ All 
correct 5)/ 
a) Any failure 
b) to complicit 
c) with these fundamental 
d) regulations will result in a fine 
e) All correct 
 
35) No amount 1)/ of money can compensate 2)/ you 
for the losses 3)/ you have experienced 4)/ All correct 
5)/ 
a) No amount 
b) of money can compensate 
c) you for the losses 
d) you have experienced 
e) All correct 
 
36) She could 1)/ not attend 2)/ the function 3)/ as her 
flight got canselled 4)/ All correct 5)/ 
a) She could 
b) not attend 
c) the function 
d) as her flight got canselled 
e) All correct 
 
37) Researchers 1)/ have identified 2)/ the early 
master cells make up the human heart could be used 
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to  make  patches  3)/  to  fix  damaged  4)/  hearts.  All 
correct 5)/ 
a) Researchers 
b) have identified 
c)  the  early  master  cells  make  up  the  human  heart 
could be used to make patches 
d) to fix damaged 
e) hearts. All correct 
 
38) There are many emp loyment 1)/ opportunities 2)/ 
for  fresh  graduates  3)/  in  the  market  4)/  today.  All 
correct 5)/ 
a) There are many emp loyment 
b) opportunities 
c) for fresh graduates 
d) in the market 
e) today. All correct 
 
39) The objective 1)/ of the seminar was to raise 2)/ 
awareness 3)/ about the consequenses 4)/ of 
corruption. All correct 5)/ 
a) The objective 
b) of the seminar was to raise 
c) awareness 
d) about the consequenses 
e) of corruption. All correct 
 
40)  The  significant  1)/  future  2)/  is  that  none  of  the 
ancient Indian scientists claimed 3)/ originality 4)/ of 
their theories. All correct 5)/ 
a) The significant 
b) future 
c) is that none of the ancient Indian scientists claimed 
d) originality 
e) of their theories. All correct 
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